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OCT_NOV_2024 WINTER EXAMINATION
4470 Master of Arts

Sub. Name: Financial Markets and Institutions
Sub. Code: 93632

Day and Date: DECEMBER ,23-12-2024 Total Marks: 80
Time: 10:30 AM To 01:30 PM

Instructions:  1. All questions are compulsory
2. Figures to the right indicate full marks

Q1) Solve following MCQ. बहुपयायी पन सोडवा [20]
 
 i. अपकालीन कजाच ेयवहार या िठकाणी चालतात यास …… हणतात.

A place where short term loan transactions take place is called ……
भांडवल बाजार Capital Market A.
नाणबेाजार Money Market B.
िवीय बाजार Financial Market C.
यापैकी नाही None of theseD.

 
 ii. बॉबे टॉक एसचज ची थापना …… वष झाल.े 

Bombay Stock Exchange was established in ……
१८७५ 1875A.
२०१३ 2013B.
१७७५ 1775C.
१९७५ 1975D.

 
 iii. कोषागार हुंयाची मदुत …… एवढी असते. 

The tenure of treasury dowry is ……
81 िदवस 81 Days A.
182 िदवस 182 Days B.
364 िदवस 364 Days C.
वरील सव  All the aboveD.

 
 iv. एका दशेाया चलनाची दसुया दशेाया चलनात यत केलले े िकंमत हणजे …… होय.       The

value of one country's currency expressed in another country's currency is ……
यापाराचा दर Rate of tradeA.
िविनमय दर  Exchange rateB.
याजदर Interest rateC.
यापैकी नाही None of theseD.

 
 v. आतंरराीय नाणिेनधी …… मदुतीची कज दतेे. 

The International Monetary Fund offers …… term loans.
अप Short A.
दीघ Long B.
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मयम Medium C.
यापैकी नाही None of theseD.

 
 vi. नाबाड ची थापना …… साली झाली. 

NABARD was established in …….
१९८२ 1982A.
१९८५ 1985B.
१९९० 1990C.
१९९५ 1995D.

 
 vii. जोया लावा

            गट 1                           गट 2
िविनमय दर     अ) दीघकालीन कज यवहार1.
पत जोखीम      ब) एका चलनाची िकंमत दसुया चलनात यत केली जाते.2.
नाण ेबाजार      क) कजाया दाियवाची परतफेड न करयाची शयता3.
भांडवल बाजार  ड) अपकालीन कज यवहार4.

Match the following-
Group I                          Group II
1. Exchange rate a) Long term debt transactions
2. Credit risk   b) Price of one currency expressed in terms of another currency.
3. Money market c) Possibility of non-repayment of debt obligations
4. Capital market d) Short term debt transactions

ब -क -ड -अ  b -c -d -a A.
ड -अ - ब -क d -a - b -cB.
ड - ब -क –अ   d - b -c –a           C.
ब -ड -क –अ b -d -c –a    D.

 
 viii. जोया लावा

                गट 1                                       गट 2
िवदशेी िविनमय बाजार    अ) िविनमय दरात थैय िनमाण करण े1.
आतंराीय नाण ेिनधी     ब) िनयात वृी करण े2.
आयात िनयात बकँ         क) िशखर बकँ हणनू काय 3.
िरझह बकँ ऑफ इिंडया   ड) िवदशेी चलनाया खरेदी-िवीच ेयवहार4.

Match the following-
Group I                                                Group II
1. Foreign exchange market        a) Stabilization of exchange rate
2. International Monetary Fund    b) Increasing exports
3. Import Export Bank                 c) Act as apex bank
4. Reserve Bank of India            d) Transactions of purchase and sale of
foreign currency

ब -क -ड -अ b -c -d -a       A.
ड -अ - ब -क  d -a - b -c     B.
ड - ब -क –अ d - b -c –a       C.
ब -ड -क –अ b -d -c –aD.

 
 ix. पितपादन (A)- क दीय बकेँकडे िविनमय दरावर पिरणाम करयासाठी परकीय चलन साठा असतो.
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कारण (R) - परकीय चलनाची िवी आिण खरेदीचा िविनमय दरावर पिरणाम होतो.
Assertion (A)- The central bank has foreign exchange reserves to influence the
exchange rate.
Reason (R) – Sale and purchase of foreign currency affects the exchange rate.

(A) आिण (R) दोही सय आहेत. Both (A) and (R) are true.A.
(A) असय आहे, (R) सय आहे. (A) is false, (R) is true.B.
(A) आिण (R) दोही असय आहेत. Both (A) and (R) are false.C.
(A) सय आहे, (R) असय आहे. (A) is true, (R) is false.D.

 
 x. पितपादन (A)-नाबाड ही सवोच बकँ आहे.

कारण (R) - आरबीआय जनतेशी थटे यवहार करत नाही.
Assertion (A)-NABARD is the apex bank.
Reason (R) – RBI does not deal directly with public.

(A) आिण (R) दोही सय आहेत.  Both (A) and (R) are true.A.
(A) असय आहे, (R) सय आहे. (A) is true, (R) is false.B.
(A) आिण (R) दोही असय आहेत.  Both (A) and (R) are false.C.
(A) सय आहे, (R) असय आहे. (A) is true, (R) is false.D.

 
Q2) िटपा िलहा (सहा पैकी कोणतेही चार) Short notes. (Any four out of Six) [20]
 
 a. आयात िनयात बकेँची काय Functions of Import Export Bank [5]
 
 b. जोखीम यवथापन Risk Management [5]
 
 c. रोख ेबाजार bond market [5]
 
 d. िविनमय दराच ेपकार Types of Exchange Rate [5]
 
 e. भारतीय औोिगक िवकास बकेँची काय Functions of Industrial Development Bank of

India
[5]

 
 f. जोखमीच ेपकार Types of risk [5]
 
Q3) खालील पनांची उरे थोडयात िलहा. (चार पैकी कोणतेही दोन) Write the answers to the

following questions in brief. (Any two out of four)
[20]

 
 a. भांडवल बाजाराची रचना सिवतर िलहा. 

Write in detail the structure of capital market.
[10]

 
 b. वीकलजची 52 आठवडी बाजार पवृी सांगा.

State the derivatives 52 weekly market trend.
[10]

 
 c. जोखीम सरुितता हणजे काय ितची िविवध साधने पट करा. 

What is risk safety? Explain its various tools.
[10]

 
 d. नाण ेबाजाराची िवीय साधने पट करा. 

Explain the financial instruments of money market.
[10]
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Q4) खालील पनांची उरे सिवतर िलहा. (दोन पैकी कोणताही एक) Write the answers to the following

questions in detail. (Any one of the two)
[20]

 
 a. िवदशेी िविनमय बाजाराची वप व काय पट करा. 

Explain the nature and functions of foreign exchange market.
[20]

 
 b. िवीय पणालीची काय व भिूमका सिवतर िलहा. 

Write in detail the functions and role of financial system.
[20]

 

End Of Question Paper
Important Note for Chief Exam Officer / SRPD Coordinator / Sr Supervisor/ Student -
This Question Paper may be distributed for following Subjects as common code.
सदरची पनपिका खालील िवषयांकिरता िवतिरत करता यईेल.

1]  (4470) Master of Arts - NEP2020-2.0 (93632) Financial Markets and Institutions Part 1 SEM 2



SH-234

- 1 -

SH-234
Total No. of Pages : 6

Seat
No.

M.A. (Part - I) (Semester - II) (NEP 2020-2.0)

Examination, December- 2024
ECONOMICS

Agricultural Development in India
Sub. Code : 93626

Day and Date : Saturday, 21-12-2024 Total Marks : 80

Time : 10.30 a.m. to 01.30 p.m.

Instructions : 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q.1) A) Choose the correct alternative for the following questions.

i) Major provisions were made in ........ regarding Food Security Bill in India.

a) 2014 b) 2013

c) 2015 d) 2016

ii) Full form of BPL : ........

a) Below the Population Line b) Below People Line

c) a) and b) both options d) Below Poverty Line

iii) Net Irrigated Area in India ............

a) is increasing b) is constant

c) is decreasing d) none of these

iv) District Central Cooperative Bank was established in the year ........... in the
State of Uttar Pradesh in India.

a) 1903 b) 1904

c) 1905 d) 1906

v) The Reserve Bank of India was established under the ...........

a) 1935 Act b) 1936 Act

c) 1934 Act d) 1937 Act

P.T.O.
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vi) Agnark was established under the Standardization Act of ............ to

maintain the correct quality of agricultural produce.

a) 1947 b) 1950

c) 1905 d) 1937

B. Match the following :

I) Group I     Group II

1. Food Security a) 2004

2. Central Statistical Organization b) 1995

3. Rural Infrastructure Development Fund c) 1950-51

4. National Commission on Agriculture d) 1970

a) 1-d, 2-c, 3-b, 4-a b) 1-d, 2-b, 3-c, 4-a

c) 1-a, 2-b, 3-c, 4-d d) 1-c, 2-a, 3-d, 4-b

II) Group I Group II

1. Agricultural Commodity Price Commission a) 2016

2. e-National Agricultural Marketing b) 1965

3. Utilization of Surface and Underground Water c) 2006

4. National Agricultural Policy d) 1869

a) 1-d, 2-c, 3-b, 4-a b) 1-d, 2-b, 3-c, 4-a

c) 1-b, 2-a, 3-d, 4-c d) 1-c, 2-a, 3-d, 4-b

C. Choose the correct statement :

I) Statement 1. The experiment of contract farming is inconsistent with the

reality in the context of Indian agriculture.

Statement 2. As contract farming will not work with small farmers who

constitute 60 to 70% of India.

a) Statement 1 is correct and statement 2 is incorrect.

b) Statement 2 is correct and statement 1 is incorrect.

c) Both statements are correct.

d) Both statements are incorrect.

4

4
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II) Statement 1. As the agricultural holding area is very small and fragmented,

the marketable output remains low.

Statement 2. So, there is no entrepreneurial attitude among the farmers.

a) Statement 2 is correct and statement 1 is incorrect.

b) Statement 1 is correct and statement 2 is incorrect.

c) Both statements are incorrect.

d) Both statements are correct.

Q.2) Write short notes. (Any four)

i) Blue Revolution

ii) Food Security in India

iii) Watershed Development Programme

iv) Indian Banking Structure

v) World Trade Organization

vi) Grading and Validation

Q.3) Answer any two of the following questions in short.

i) Explain the importance of agriculture in economic development of India.

ii) State the problems in Indian fisheries.

iii) Explain the role of cooperative credit societies in Indian agricultural sector.

iv) Explain in detail the role of Government in Indian agricultural marketing.

Q.4) Write a detailed answer. (Any one)

i) Explain in detail the evaluation of public distribution system in India.

ii) Explain in detail the scope, advantages, disadvantages of agricultural

mechanization in India.

P.T.O.
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_amR>r énm§Va

gyMZm : 1. gd© àíZ A{Zdm`© AmhoV.

2. COdrH$S>rb A§H$ àíZmMo JwU Xe©{dVmV.

à.1. A) `mo½` n`m©̀  {ZdS>m Am{U dmŠ` nwÝhm {bhm.

i) ^maVmV AÞ gwajm {dYò H$m~m~V ........ _Ü ò _w»` VaVwXr H$aÊ`mV Amë`m.

A) 2014 ~) 2013

H$) 2015 S>) 2016

ii) ~rnrEb Mo nyU© ê$n ...........

A) bmoH$g§»`m aofoImbrb ~) bmoH$ aofoImbrb

H$) A) Am{U ~) XmoÝhr n`m©̀ S>) Xm[aÐç aofoImbrb

iii) ^maVmVrb {Zìdi qgMZ joÌ ............

A) dmT>V Amho. ~) pñWa Amho.

H$) KQ>V Amho. S>) `mn¡H$s EH$hr Zmhr

iv) ^maVmVrb CÎma àXoe amÁ`mV {Oëhm _Ü`dVu ghH$mar ~±Ho$Mr ñWmnZm ...... `m dfu

H$aÊ`mV Ambr Amho.

A) 1903 ~) 1904

H$) 1905 S>) 1906

v) ^maVr` [aPìh© ~±Ho$Mr ñWmnZm ......, Zwgma H$aÊ`mV Ambr.

A) 1935 H$m`Xm ~) 1936 H$m`Xm

H$) 1934 H$m`Xm S>) 1937 H$m`Xm

vi) .......... À`m àVdmar à_m{UH$aU H$m`ÚmÀ`m A§VJ©V eoV_mbmbm `mo½` XOm©

{Q>H${dÊ`mgmR>r E°J_mH©$Mr ñWmnZm H$aÊ`mV Ambr.

A) 1947 ~) 1950

H$) 1905 S>) 1937

12
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~) `mo½` OmoS>çm Owidm :

i) JQ> I JQ> II

1. AÞgwajm A) 2004

2. H|$Ðr` gm§p»`H$s g§ñWm ~) 1995

3. J«m_rU nm`m ŷV gw{dYm {dH$mg {ZYr H$) 1950-51

4. amï´>r` eoVr Am`moJ S>) 1970

A) 1-S>, 2-H$, 3-~, 4-A ~) 1-S>, 2-~, 3-H$>, 4-A

H$) 1-A, 2-~, 3-H$, 4-S> S>) 1-H$>, 2-A, 3-S>, 4-~

ii) JQ> I JQ> II

1. H¥$fr IM© d qH$_V Am`moJ A) 2016

2. Am°ZbmBZ amï´>r` eoVr {dnUZ ~) 1965

3. ŷn¥ð> Am{U ŷJ^m©Vrb nmÊ`mMm dmna H$) 2006

4. amï´>r` eoVr YmoaU S>) 1869

A) 1-S>, 2-H$, 3-~, 4-A ~) 1-S>, 2-~, 3-H$>, 4-A

H$) 1-~, 2-A, 3-S>, 4-H$ S>) 1-H$>, 2-A, 3-S>, 4-~

`mo½` {dYmZ {ZdS>m :

i) {dYmZ 1. H$ama eoVrMm à`§moJ ^maVr` eoVrÀ`m g§X^m©V dmñVdmer {dg§JV Amho.

{dYmZ 2. H$maU H$ama eoVr ^maVmVrb 60 Vo 70% EdT>çm à_mUmV AgUmè`m bhmZ

eoVH$è`m§~amo~a hmoUma Zmhr.

Imbrbn¡H$s H$moUVo {dYmZ `mo½`/A`mo½` Amho?

A) n{hbo {dYmZ `mo½` d Xþgao {dYmZ A`mo½` Amho.

~) Xþgao {dYmZ `mo½` d n{hbo {dYmZ A`mo½` Amho.

H$) XmoÝhr {dYmZo `mo½` AmhoV.

S>) XmoÝhr {dYmZo A`mo½` AmhoV.

4

4
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ii) {dYmZ 1. H¥$fr YmaU joÌ AË §̀V bhmZ d AZoH$ VwH$S>çmV Vo {dIwabobo Agë`m_wio

~mOmam{YŠ` CËnmXZmMo à_mU Aën amhVo.

{dYmZ 2. Ë`m_wio eoVH$è`m§_Ü ò ì`mnmar Ñ{ï>H$moZ {Z_m©U hmoV Zmhr.

Imbrbn¡H$s H$moUVo {dYmZ `mo½`/A`mo½` Amho?

A) Xþgao {dYmZ `mo½` d n{hbo {dYmZ A`mo½` Amho.

~) n{hbo {dYmZ `mo½` d Xþgao {dYmZ A`mo½` Amho.

H$) XmoÝhr {dYmZo A`mo½` AmhoV.

S>) XmoÝhr {dYmZo `mo½` AmhoV.

à.2. {Q>nm {bhm. (H$moUË`mhr Mma)

A) {Zb H«$m§Vr

~) ^maVmVrb AÞYmÝ` gwa{jVVm

H$) nmUbmoQ> joÌ {dH$mg H$m ©̀H«$_

S>) ^maVr` ~±qH$J aMZm

B) OmJ{VH$ ì`mnma g§KQ>Zm

\$) àVdmar Am{U à_m{UH$aU

à.3. WmoS>Š`mV CÎmao {bhm. (H$moUVrhr XmoZ)

A) ^maVmÀ`m Am{W©H$ {dH$mgmVrb eoVrMo _hÎd ñnï> H$am.

~) ^maVr` _Ëñ` ì`dgm`mVrb g_ñ`m ñnï> H$am.

H$) ^maVr` H¥$fr joÌmVrb ghH$mar nVg§ñWm§Mr ŷ{_H$m ñnï> H$am.

S>) ^maVr` eoV_mb {dnUZmVrb gaH$maMr ŷ{_H$m g{dñVa ñnï> H$am.

à.4. g{dñVa CÎma {bhm. (H$moUVohr EH$)

A) ^maVmVrb gmd©O{ZH$ {dVaU ì`dñWoMo _yë`_mnZ g{dñVa ñnï> H$am.

~) ^maVmVrb H¥$fr `m§{ÌH$sH$aUmMr ì`már, \$m`Xo, VmoQ>o g{dñVa ñnï> H$am.

20

20

20
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M.A. (Semester- II)  

Examination,  December – 2024 

ENGLISH 

British Neoclassical and Romantic Literature 

Sub. Code : 93582 
 

Day and Date : Monday, 9//12/2024 Total Marks :80 

Time : 10.30 a.m. to 1.30 p.m.  
 

Instructions : 1. All question are compulsory. 

2. Figures to the right indicate full marks.  

Q.1)  Answer in one word/phrase/sentence: (10) 

 1) Who started the periodical, The Rambler, in 1750?  

2) What periodical was aimed "to enliven morality with wit, and 

to temper wit with morality"?  

3) According to Joseph Addison, what is the noblest production 

of human nature?  

4) What poem by John Dryden is known as the finest political 

satire?  

5) What conflict is explicitly employed in John Keats's 'Ode to 

Nightingale'?  

6) Alexander Pope's 'Epistle to Dr. Arbuthnot' is addressed to ..... 

7) Mention the form of Oliver Goldsmith's She Stoops to 

Conquer.  

8) Who is the author of the gothic novel, The Castle of Otranto?  

9) What is the name of Hindley's son in Emily Brontë's Wuthering 

Heights?  

10) What is the name of the male co-servant with Nelly in Emily 

Brontë's Wuthering Heights?  

 

Total  No.  of  Pages : 2 

P.T.O. 
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Q.2) Answer any two (out of three) in about 600 words each.  (30) 

 A) Write a detailed note on British gothic fiction of Romantic 

time.  

B) Write a comprehensive note on neoclassical nonfiction with 

reference to periodical essays and debates.  

C) Consider Oliver Goldsmith's She Stoops to Conquer as an 

instance of anti-sentimental comedy.  

 

 

Q.3) Answer any two (out of three) in about 600 words each. 

A) Discuss the various charges against John Milton's poetic works 

presented in Samuel Johnson's Life of Milton.  

B) Discuss the themes of love and revenge in Emily Brontë's 

Wuthering Heights.  

C) Write a critical appreciation of John Keats' 'Ode to a 

Nightingale'.  

(30) 

   

Q.4) Write short notes on the following (any two - out of three)  

a) How does Joseph Addison differentiate between False 

Humour and Humour?  

b) The setting of Thomas Gray's 'The Bard'  

c) The narrative style of Wuthering Heights.  

(10) 

___________________________  



M.A. (Semester-II) (NEP 2020-2.0)
Examination, December 2024

ENGLISH
Critical Theories - I

Sub. Code : 93576

Day and Date: Friday, 06-12-2024     Total Marks: 80
Time: 10.30 a.m. to 01.30 p.m.

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Answer in one word/phrase/sentence.    (10)

1) Who calls the poem a class of experience?

2) What does Longinus think as the common foundation of all the five sources of
sublimity?

3) Which category, according to Kuntaka, is made beautiful by the enhancement of
their unaffected desire?

4) What does Todorov mean by the term 'equilibrium'?

5) Who says that intuition or private part of art is aesthetic part?

6) In how many chapters is Biographia Literaria divided?

7) Whom did Wollstonecraft's Vindication of the Rights of Women dedicated?

8) Who said, 'As is painting, so is poetry'?

9) Lysias is son of .....................

10) What is Wollstonecraft's opinion of the rich?

SH-90
Total No. of Pages : 02

Seat
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Q.2 Answer ANY TWO of the following in about 600 words each.    (30)

a) "Sublimity is the echo of noble mind." Discuss.

b) Bring out the views of various scholars about the Intentional Fallacy.

c) Discuss in detail the movement from equilibrium to disequlibrium and to a new
equilibrium of the plots of Decameron.

Q.3 Answer ANY TWO of the following in about 600 words each.    (30)

a) Discuss in detail the structure of Ars Peotica.

b) Bring out the comparison of Wordsworth and Coleridge as critics.

c) How are men responsible for women's low social and moral status, according to
Wollstonecraft?

Q.4 Write short notes on the following in about 200 words each. (Any two)    (10)

a) Coleridge's views on poets and poetry

b) Rasa-laden

c) The role of Myth in Phaedrus

_________

2
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M.A. (Part-I) (Semester-II) (NEP 2020-2.0)
Examination, December 2024

ENGLISH
Fiction in English: Modern and Postmodern

Sub. Code : 93575

Day and Date: Thursday, 05-12-2024   Total Marks: 80
Time: 10.30 a.m. to 01.30 p.m.

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Answer in one word/phrase/sentence.    (10)

1) What does Siddhartha do after learning the main tenets of Gotama's
Eightfold Path?

2) What causes Kamala's death?

3) Who becomes the inheritance of all belongings when father dies in Igbo society?

4) What does Okobosni's family call Aku-nna?

5) Where is the setting of the novel 'The Bride Price'?

6) When does the car thief go blind?

7) Where does the girl with the dark glasses go blind?

8) How does Balram avoid punishment for his driver's mistake?

9) What sport does Pinky Madam play with Ram Prasad?

10) Which type of alcohol does Ashok keep in his car?

SH-89
Total No. of Pages : 02

Seat
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Q.2 Attempt ANY TWO of the following questions in about 600 words each.    (30)

a) Illustrate the major ideological positions of African females in gender discourse.

b) Discuss the portrayal of post-colonial India in Indian English novels with special
reference to the text prescribed.

c) Comment of the characterization in the novel 'Siddhartha'.

Q.3 Attempt ANY TWO of the following questions in about 600 words each.    (30)

a) Comment on the theme of the nature of disease on José Saramago's novel
'Blindness'.

b) Write a note on the plot-construction of the novel 'The Bride Price'.

c) Write a critical note on the immortal corruption as the theme of the novel
'Siddhartha'.

Q.4 Write short notes on ANY TWO of the following in about 200 words each.    (10)

a) The girl with the dark glasses

b) Symbol of the River in Siddhartha

c) Morality in The White Tiger

_________

2

SH-89



QP-4874
Seat No. Total No. of Pages : 2

[1] P.T.O.

MAR_APR 2025 SUMMER EXAMINATION
3148 Master of Arts

Sub. Name: Fiction in English up to the 19 th Century
Sub. Code: 92637

Day and Date: APRIL ,29-04-2025 Total Marks: 80
Time: 02:30 PM To 05:30 PM

Instructions:  1. All questions are compulsory
2. Figures to the right indicate full marks

Q1) Answer in one word/phrase/sentence each:
1. Why is Huck upset after burning the spider?
2. How does Buck die?
3. Where does Kitty deliver her baby?
4. Who is Sergei?
5. What does La Esmerelda show to Sister Gudule when they encounter each other
face-to-face?
6. The letters inscribed on the pieces of wood that La Esmerelda carries spell------
7. How many books are there of Tristram Shandy?
8.  What is the full title of the novel Tristram Shandy?
9. Anna Karenina was originally printed as a book in ----
10. What do Jim and Huck find in the floating house? 

[10]

 
Q2) Attempt any two of the following Questions in about 600 words each:  

A) Write, in detail, rise and development of the novel with reference to various
fictions prescribed in your syllabus.
B) What are the various characteristics of psychological fiction? Support your
answer with various examples of novels.
C) Appearance versus reality is a major theme in Huckleberry Finn. Elaborate the
statement.

[30]

 
Q3) Attempt any two of the following Questions in about 600 words each:  

A) In what ways does the novel Tristram Shandy challenge traditional ideas of time,
memory and chronology?
B) Discuss, in detail, how history, culture, environment and other factors influence
Victor Hugo to express the major themes of The Hunchback of Notre Dame.
C) How does family life affect Anna Karenina’s personality?

[30]

 
Q4) Write short notes on any two of the following in about 200 words each: 

a) Huck as an archetype hero
b) Various symbols in The Hunchback of Notre Dame
c) Beginning of the novel Tristram Shandy

[10]
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End Of Question Paper
Important Note for Chief Exam Officer / SRPD Coordinator / Sr Supervisor/ Student -
This Question Paper may be distributed for following Subjects as common code.
सदरची पनपिका खालील िवषयांकिरता िवतिरत करता यईेल.
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M. A. (Semester - I) 

Examination, April - 2025

ENGLISH

Poetry In English Upto 19th Century

Sub. Code : 92636

Day and Date : Monday, 28/04/2025       Total Marks : 80

Time : 02:30 p.m. to 05:30 p.m.

Instructions : 1) All questions are compulsory.

  2) Figures to the right indicate full marks.

P.T.O.

Q1) Answer in one word/phrase/sentence.   [10]

 A) Who is considered as the father of English Poetry?

 B) Name the shrine that visited by the pilgrims most in the context of 

  Canterbury Tales.

 C) Who are the voices in Hamatreya?

 D) Who is called as 'The Sage of Concord,"

 E) In context of Emily Dickinson's poem, "Because I could not stope for Death," 

  what does the speaker pass by during her carriage-ride with Death?

 F) What is the fi rst title of the poem, 'Roman Elegies'?

 G) "Charles Baudelaire's Poem, ------------is considered the touchstone of 

  French symbolism."

 H) How the speaker does depict his fl ight from home in Arthur Rimbaud's  

  'Memory'?

 I) What image is symbolically employed in Goethe's 'Wanderer's Night Song'?

 J) Which poem by Arthur Rimbaud is a 'Poem of childhood without innocence'?

Seat 
No.



 2 

SP-101

Q2) Answer any two (out of three) in about 600 word each. [30]

 A) Discuss the characteristics of poetry written in the age of Chaucer.

 B) Defi ne the French symbolist movement in poetry with appropriate examples of 

  its major contributor's works.

 C) "Friedrich Holderlin off en employs the intermingling themes of classical  

  Greek and Christian in his poetry." Justify your views.

Q3) Answer any two (out of three) in about 600 word each. [30]

 A) What is the main theme of Chaucer's prescribed poem, 'From the Knight's 

  Tale' [The Temple of Mars].

 B) Consider Ralph Waldo Emerson as a Transcedental poet with reference to 

  the poems you have studied.

 C) Evaluate the theme of death used in Goethe's poems that you have studied.

Q4) Write short notes on (any two - out of three: in about 200 words each) [10]

 A) The stages of Germen romanticism.

 B) The theme of death in Emily Dickinson's "A Bird came down the Walk".

 C) Use of colour symbolism and mystical pattern of hidden meaning in 'Vowels'.
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M.A. (Part – I) (Semester – II) (NEP - 2020) 

Examination - May 2025 

HISTORY 

Devotional Cults in Medieval India (1206 – 1750) 

Sub. Code : 93645 

Day and Date : Friday, 09/05/2025 Total Marks : 80 

Time : 2.30 pm. to 5.30 pm 

Instructions : 1) All questions are compulsory. 

 2) Figures to the right indicate full marks. 

 

Q. 1. Multiple choice questions : [20] 

 Choose correct alternative.  

1) The philosophy of ......... is called the Advaita. 

 a) Shankaracharya  b) Ramanujacharya 

 c) Nagarjuna  d) Vasumitra 

2) The Hindi verses of .......... was included in Guru Granth Sahiba. 

 a) Sant Dnyndev  b) Sant Eknath 

 c) Sant Namadev   d) Sant Tukaram 

3) .......... is related to the Varkari Sect. 

 a) Nimbarka  b) Namadeva 

  c) Chakradhara  d) Ramdasa 

4) Alvars were devotees of .......... 

 a) Vishnu  b) Krushna 

 c) Ram  d) Vitthal  

Seat  

No.  
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5) In Sufi tradition ‘Pir’ meant .......... 

 a) The Supreme God b) Guru of Sufis 

 c) Kazi  d) Mahaguru  

6) There were .......... Nayanars and ......... number of Alavars. 

 a) 63, 12  b) 64, 24 

 c) 65, 24  d) 66, 30 

7) Match the following. 

        Group I  Group II 

1) Jayadeva a) Sahitya Lahiri 

2) Dnyaneshwar b) Ramacharitmanas 

3) Saint Tulasidas c) Dnyaneshwari 

4) Saint Surdas d) Gita Govinda 

 a) 1 – a, 2 – b, 3 – c, 4 – d  b) 1 – b, 2 – a, 3 – c, 4 – d  

 c) 1 – d, 2 -– c, 3 – a, 4 – b  d) 1 – d, 2 – c, 3 – b, 4 – a 

8) Match the following. 

       Group I  Group II 

1) Guru Nanak a) 1504 

2) Guru Anand b) 1469 

3) Guru Amardas c) 1479 

4) Guru Ramdas d) 1534 

 a) 1 – a, 2 – b, 3 – c, 4 – d  b) 1 – b, 2 – a, 3 – c, 4 – d 

 c) 1 – d, 2 – a, 3 – c, 4 – b d) 1 – d , 2 – c, 3 – b, 4 – a 

9) Choose correct option. 

 1) Saint Dnyaneshwar was the founder of the Bhakti Movement in 

Maharashtra in the thirteenth century. 

 2) Ramacharitmanas was written by Sant Dnyaneshwar.  
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 Option 

 A) Statement 1 is correct and Statement 2 is incorrect 

 B) Statement 1 is incorrect and Statement 2 is correct 

 C) Both Statements are incorrect 

 D) Both Statements are correct 

x) Choose correct option. 

 1) Sikh religion was established by Guru Ramdas 

 2) Bhavarth Ramayan written by Guru Ramdas 

 Option 

 A) Statement 1 is correct and Statement 2 is incorrect 

 B) Statement 1 is incorrect and Statement 2 is correct. 

 C) Both Statements are incorrect 

 D) Both Statements are correct 

 

Q. 2. Write a short note in 150 – 200 words. (any four out of six) [20] 

1) Tulsidas 

2) Suharavardi Silsilhas 

3) Spread of the Sufi sect in the South 

4) Shaikh Gaisudraj 

5) Saint Kabir 

6) Saint Dnyaneshwar  

 

Q. 3. Write a short answer in 300 – 400 words (any two out of four) [20] 

1) Take a review of life and work of Saint Meerabai. 

2) Discuss in detail the work of Saint Eknath of Varkari Cult. 

3) Review the work of Saint Tukaram. 

4) Discuss to the Philosophy of Varkari cult. 
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Q. 4. Write a descriptive answer in 600 - 800 words. (any one out of two) [20] 

a) Review the life and work Khwajah Muin-ud-Din chishti. 

b) Explain Guru tradition in Sikh religion. 

 

मराठी रूपाांतर 

सूचना : 1) सर्व प्रश्न आर्श्यक आहेत.  

 2) उजर्ीकडील अांक पूर्व गुर् दर्ववर्तात.  

 

प्र. 1.  योग्य पयावय वनर्डा. [20] 

1) .......... याांच्या तत्त्वज्ञानाला अद्वैत तत्त्वज्ञान म्हणतात. 

 अ) शांकराचायय   ब) रामानजुाचायय  

 क) नागाजुयन   ड) वसमुमत्र 

2) .......... याांची महांदी काव्य रचना गरुुग्रांथ सामहबामध्ये समावेशीत आहते. 

 अ) सांत ज्ञानदवे  ब) सांत एकनाथ 

 क) सांत नामदवे  ड) सांत तकुाराम 

3) .......... ह ेवारकरी सांप्रदायाशी सांबांधीत होते.  

 अ) मनांबाकय   ब) नामदवे  

 क) चक्रधर  ड) रामदास 

4) अलवार ह े........... च ेपजूक होते.  

 अ) मवष्ण ु  ब) कृष्ण  

 क) राम   ड) मवठ्ठल 

5) सफुी सांप्रदायामध्ये ‘पीर’ म्हणजे ........... होय.   

 अ) जगतगरुु  ब) सफुींचे गरुू  

 क) काझी   ड) महागुरू   

6) नायनाराांची सांख्या ........... व अलवाराांची सांख्या .......... इतकी होती. 

 अ) ६३, १२  ब) ६४,२४ 

 क) ६५,२४    ड) ६६,३० 
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7) योग्य जोड्या जुळवा. 

 गट ‘अ’  गट ‘ब’ 

1) जयदवे अ)  सामहत्य लहरी 

2) ज्ञानेश्वर ब)  रामचररतमानस 

3) सांत तकुाराम क)  ज्ञानेश्वरी 

4) सांत सरूदास  ड)  गीतगोमवांद 

 अ) १ – अ, २ – ब, ३ – क, ४ – ड   ब) १ – ब, २ – अ, ३ – क, ४ – ड  

 क) १ – ड, २ – क, ३ – अ, ४  – ब   ड) १ – ड, २ – क, ३ – ब, ४ – अ 

8) योग्य जोड्या जळवा. 

 गट ‘अ’  गट ‘ब’ 

1) गरुु नानक अ)  १५०४ 

2) गरुू आनांद ब)  १४६९  

3) गरुु अमरदास क)  १४७९ 

4) गरुु रामदास ड)  १५३४  

 अ) १ – अ, २ – ब, ३ – क, ४ – ड   ब) १ – ब, २ – अ, ३ – क, ४ – ड  

 क) १ – ड, २ – अ, ३ – क, ४  – ब   ड) १ – ड, २ – क, ३ – ब, ४ – अ 

9) योग्य पयायय मनवडा. 

 1) १३ व्या शतकामध्ये महाराष्रामध्ये भक्ती चळवळीचा पाया सांत ज्ञानेश्वराांनी घातला. 

 2) रामचररतमानस हा ग्रांथ सांत ज्ञानेश्वराांनी मलमहला. 

 पयावयः 

 अ) मवधान पमहले बरोबर तर मवधान दसरे चकुीचे आह.े 

 ब) मवधान पमहले चकुीचे तर मवधान दसूरे बरोबर आह.े  

 क) वरील दोन्ही मवधाने चकुीचे आहते.  

 ड) वरील दोन्ही मवधाने बरोबर आहते. 
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10) योग्य पयायय मनवडा.  

 1) शीख धमायची स्थापना गरुु रामदास याांनी केली. 

 2) गरुु रामदास याांनी ‘भावाथय रामायण’ हा ग्रांथ मलमहला.  

 पयावयः 

 अ) मवधान पमहले बरोबर तर मवधान दसुरे चकुीचे आह.े  

 ब) मवधान पमहले चकुीचे तर मवधान दसुरे बरोबर आह.े 

 क) वरील दोन्ही मवधाने चकुीचे आहते. 

 ड) वरील दोन्ही मवधाने बरोबर आहते.  

 

प्र. 2.  वटपा वलहा. (कोर्त्याही चार) [20] 

1) तलुसीदास 

2) सहुरावदी सांप्रदाय 

3) दमिणेतील सफुी पांथाचा प्रसार 

4) शेख गैसदुराज 

5) सांत कबीर 

6) सांत ज्ञानेश्वर 

 

प्र. 3.  लघुउत्तरी प्रश्न ३०० ते ४०० र्ब्दात उत्तरे वलहा. (कोर्तेही दोन) [20] 

1) सांत मीराबाई याांचे जीवन व कायायचा आढावा घ्या. 

2) सांत एकनाथ याांच्या वारकरी सांप्रदायातील कायायची समवस्तर चचाय करा .  

3) सांत तकुारामाांच्या कायायचा आढावा घ्या. 

4) वारकरी सांप्रदायाच्या तत्त्वज्ञानाची चचाय करा.  

 

प्र. 4.  दीघोत्तरी प्रश्न ६०० ते ८०० र्ब्दात वलहा. (कोर्ताही एक) [20] 

1) ख्वाजा मइुउमिन मचश्ती याांचे जीवन व कायायचा आढावा घ्या.  

2) शीख धमायतील गरुु परांपरा स्पष्ट करा. 
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[1] P.T.O.

OCT_NOV_2024 WINTER EXAMINATION
Master of Arts

Sub. Name: History of Indian Foreign Policy
Sub. Code: 95731

Day and Date: DECEMBER ,04-12-2024 Total Marks: 80
Time: 10:30 AM To 01:30 PM

Instructions:  1. All questions are compulsory
2. Figures to the right indicate full marks

Q1) A. Answer the following questions by choosing correct options. िरकाया जागी योय
पयाय िनवडा.

[12]

       i. The nature of India’s foreign policy is ______________. 
भारताया पररा धोरणाच ेवप हे _____________ आहे.

Imperialist सामायवादीA.
Colonialist वसाहतवादीB.
Anarchist अराजकतावादीC.
Humanist मानवतावादीD.

 
       ii. _______________, the Prime Minister of China visited India in June 1954. 

चीनच ेपतंपधान ___________ यांनी जनू १९५४ मय ेभारताला भटे िदली. 
Mao  माओA.
Jinping िजनिपगंB.
Zhou Enlai चाऊ एन लाईC.
Lin Biao िलन बाओD.

 
       iii. India is against the construction of ______________ highway by China. 

चीनारे बांधया जाणाया ___________ महामागास भारताचा िवरोध होता.
Leh लहेA.
Karakoram  काराकोरमB.
Gilgit िगलगीटC.
Lhasa ासाD.

 
       iv. The huge burden of refugees from __________ falls on India.

 __________ यथेनू यणेाया िनवािसतांचा  मोठा बोजा भारतावर पडला.
Nepal नेपाळ A.
Bangladesh बांगलादशे B.
Bhutan भतूानC.
Afghanistan अफगािणतानD.

 
       v. The year 1998 is marked by serious economic crisis for Russia, which was

known as ________.
 १९९८ हे वष रिशयाया बाबतीत भयानक आिथक सकंटाच े होते, याला ___________ हणनू
ओळखल ेजाते.



QP-1723

[2] P.T.O.

Dollar Crisis डॉलर सकंटA.
NATO Crisis नाटो सकंटB.
Moscow Crisis मॉको सकंट     C.
Ruble Crisis बल सकंटD.

 
       vi. One Belt On Road scheme was initiated by ___________. 

वन बेट वन रोड ही योजना ____________ ारे सु करयात आली.
USA य.ुएस.ए. A.
Pakistan पािकतानB.
China चीनC.
Russia रिशयाD.

 
 B. Match the Following with four alternatives and choose correct option. खालील

जोया जळुवनू योय पयाय िनवडा.
Group 1  Group 2
1. Richards Nixon िरचडस
िनसन

 a. Liberal Policy towards
India भारतासबंधंी उदार धोरण

2. Lyndon B. Johnson िलडंन
बी. जॉसन

 b. Approval to supply of
Uranium from France to
India. फ ासारे समृ
यरेुिनयमया भारतास परुवयास
मायता

3. Ronald Reagan रोनाड
रेगन

 c. Naval Fleet against भारत
िवरोधात नौदल India

4. John F. Kennedy जॉन एफ.
केनेडी

 d. Helped India with Supply
of Grains. भारताला
अनधायाची मदत

 
1- d, 2- a, 3- b, 4- cA.
1- c, 2-d, 3- b, 4- aB.
1- b, 2- c, 3- a, 4- dC.
1- a, 2- d, 3-c, 4-bD.

 

[2]

 C. Match the Following with four alternatives and choose correct option. खालील
जोया जळुवनू योय पयाय िनवडा.
Group 1  Group 2
1. Atal Bihari Vajpayee
अटल िबहारी वाजपेयी

 a. India-China War 1962
भारत-चीन यु १९६२

2. Indira Gandhi इिंदरा गांधी  b. India- Pakistan War
1965 भारत-पािकतान यु
१९६५

3.  Jawahar la l  Nehru
जवाहरलाल नेह

 c. India-Pakistan War 1971
भारत पािकतान यु १९७१

4. Lal Bahadur Shastriलाल
बहादरू शाी

 d. Kargil War 1999 कारिगल
यु १९९९

[2]
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1- a, 2- b, 3- c, 4- dA.
1- c, 2- b, 3- d, 4- aB.
1- d, 2- c, 3- b, 4- aC.
1- d, 2- c, 3- a, 4- bD.

 
 D. Choose the correct options for the statements given below. 

खाली िदलेया िवधानांसाठी योय पयाय िनवडा िनवडा. 
 
1. Soviet Union took anti-India stand during India-Pakistan War of 1965.   
१ सन १९६५ या भारत-पािकतान युात सोिहएत यिुनयनने भारत िवरोधात भिूमका घेतली. 
2. Soviet Union provided Tanks to Pakistan in War of 1965. 
२ सन १९६५ या युात सोिहएत यिुनयनने पािकतानला रणगाडे परुवल.े
 

The first statement is correct and the second statement is incorrect. पिहलेA.
िवधान बरोबर असनू दसुरे िवधान चकुीच ेआहे.
The first statement is incorrect and the second statement is correct. पिहलेB.
िवधान चकुीच ेअसनू दसुरे िवधान बरोबर आहे.
Both the above statements are correct. वरील दोही िवधाने बरोबर आहेत.C.
Both the above statements are incorrect. वरील दोही िवधाने चकुीची आहेत.D.

[2]

 E. Choose the correct options for the statements given below. 
खाली िदलेया िवधानांसाठी योय पयाय िनवडा िनवडा. 
            
1. Pulwama attack was occurred in year 2019. 
१ सन २०१९ मय ेपलुवामा यथे ेदहशतवादी हला झाला.     
2. The attack was on Convey of Central Reserve Force moving on Srinagar-
Jammu Highway. 
२ ीनगर-जम ूमहामागावन जाणाया क दीय राखीव दलाया तायावर हा हला झाला होता. 
 

The first statement is correct and the second statement is incorrect. पिहलेA.
िवधान बरोबर असनू दसुरे िवधान चकुीच ेआहे.
The first statement is incorrect and the second statement is correct. पिहलेB.
िवधान चकुीच ेअसनू दसुरे िवधान बरोबर आहे
Both the above statements are correct. वरील दोही िवधाने बरोबर आहेत.C.
Both the above statements are incorrect. वरील दोही िवधाने चकुीची आहेत.D.

[2]

 
Q2) Write short notes on any FOUR of the following. खालीलपैकी कोणयाही चार िटपा िलहा. [20]
 
 a. Development and Objectives of India’s Foreign Policy 

भारताया पररा धोरणाचा िवकास व उिये
 
 b. Nehru’s China Policy 

नेहंच ेचीन धोरण
 
 c. Janta Party and Lokdal’s  Policy for Soviet Union 

जनता प व लोकदल सरकार काळातील सोिहएत यिुनयन धोरण 
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 d. Richards Nixon’s India Policy

 िरचडस िनसन यांच ेभारत धोरण
 
 e. India - America relations after Cold War

 शीतयुानतंर भारत- अमिेरका सबंधं
 
 f. Doklam Problem 

डोकलाम समया
 
Q3) Write short answers on any TWO of the following. 

खालीलपैकी कोणयाही दोन पनांची थोडयात उरे िलहा.
 
1) Explain the India’s role in Non-Alignment Movement. 
१ अिलततावादी चळवळीतील भारताची भिूमका पट करा.
 
2) The influence of India-Soviet Union treaty of 1971. 
२ सन १९७१ या भारत-सोिहएत यिुनयन कराराचा पभाव पट करा.
 
3) Evaluate the relations between India and Russia during Vladimir Putin’s reign. 
३ लािदमीर पतुीन यांया कारिकदतील भारत व रिशया सबंधंांच ेमूयमापन करा.
 
4) Analyze the relations between India and America during the period of Donald
Trump.  
४ डोनाड प यांया काळातील भारत व अमिेरका सबंधंांच ेिवलषेण करा.

[20]

 
Q4) Write detail answer on any ONE of the following. खालीलपैकी कोणयाही एका पनाच ेसिवतर

उर िलहा.  
            
1) Explain the India’s policy towards America during the period of Jawaharlal
Nehru. जवाहरलाल नेह यांया काळातील भारताच े अमिेरका सबंधंीच े धोरण पट करा.         
                                    
            
2) Analyze the relations between India and Pakistan between year 2014 to
2023. सन २०१४ ते २०२३ या काळातील भारत व पािकतान यांयातील सबंधंाच ेिवलषेण करा.    

[20]

 

* * *
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Instructions:  1. All questions are compulsory
2. Figures to the right indicate full marks

Q1) Solve following MCQ. [10]
 
 i. ‘मायमांतर’ हणजे मळू कलाकृतीया कोणया घटकाला धका न लावता,ितच े एका कलाद्यातनू

दसुया कलादयात परावितत करण े होय.
 पोतालाA.
आशयाला B.
िवषयालाC.
रचनेला   D.

 
 ii. ‘सहाशे बहार पयांचा सवालः अथात यु आमचु े सु’या कथचे े मायमांतर खालीलपैकी कोणया

िचपटात झाल ेआहे  
भाऊबळी A.
बाहुबली B.
नटसमाट C.
रीटा D.

 
 iii. ‘सहाशे बहार पयांचा सवालः अथात यु आमचु े सु’ ही जयतं पवार यांची कथा कोणया

कथासगंहातील   
 आहे.   
             

अधांतरA.
मरेी नीदं नसानी होय B.
नाय वरणभात लोचंा िन कोण नाय कोचंा C.
 िफिनसया राखतेनू उठला मोर    D.

 
 iv. 'रीटा' या िचपटाच ेिददशन खालीलपैकी कोणी केले

पलवी जोशी A.
सई ताहणकर  B.
रेणकुा शहाण ेC.
शांता गोखल ेD.

 
 v. ‘रीटा’ िचटपटाची पटकथा आिण सवंाद खालीलपैकी कोणी िलिहले

 रेणकुा शहाण ेA.
शांता गोखलेB.
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 समीर पाटीलC.
  पलवी जोशीD.

 
Q2) लघुरी पन सोडवा.(दोन पैकी एक )

1.मायमांतर हणजे कायते थोडयात पट करा
2.‘सहाशे बहार पयांचा सवालः अथात यु आमचु ेसु’ या कथचे ेमायमांतर यशवीपण ेझाल ेआहे ,असे
आपणास वाटते का ते िलहा .

[10]

 
Q3) दीघोरी पन सोडवा.

सािहयकृतीच े िचपटात मायमांतर करताना कोण- कोणया घटकांचा िवचार करावा लागतो,ते सिवतर
िलहा.
                                                 िकंवा
"रीटा वेिलणकर' कादबंरीची ‘रीटा’ िचपटात झाललेी मायमांतर पिया उलगडून दाखवा.

[20]

 

End Of Question Paper
Important Note for Chief Exam Officer / SRPD Coordinator / Sr Supervisor/ Student -
This Question Paper may be distributed for following Subjects as common code.
सदरची पनपिका खालील िवषयांकिरता िवतिरत करता यईेल.
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M.A./M. Sc. (Part - I) (Semester – I) (NEP-2.0) 

Examination - May 2025 

MATHEMATICS 

Linear Algebra 

Sub. Code : 92492 

Day and Date : Wednesday, 07/05/2025 Total Marks : 80 

Time : 2.30 pm to 5.30 pm 

N. B : 1) Question No. 1 is compulsory. 

 2) Attempt any four questions from Q. 2 to Q. No. 7. 

 3) All questions carry equal marks. 

 4)  Figures to the right indicate full marks. 

  

Q.1 A) Choose the correct answer and rewrite the sentence. (2 marks each) [12] 

i) Let W be a subspace of finite dimensional vector space V. Then …… 

 A) dim(V / W) = dimV + dimW  

 B) dim(V / W) = dimV – dimW 

 C) dim(V / W) = dimV / dimW  

 D) dim(V / W) = dimV . dimW  

ii) Let V be a finite dimensional inner product space and W is subspace 

of V. Then ……… 

 A) V = W  W  B) dim(V) = dim(W)  

 C) V = W  W⊥  D) dim(V) = dim(W⊥) 

 

Seat  

No.  
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iii) Let V be n dimensional vector space. Then T  A(V) can have 

……… distinct characteristic roots. 

 A) atmost n B) atleast n C) n D) atmost n  + 1 

iv) Let V(F) be vector space of polynomials with inner product given by 

(𝑝(𝑥), 𝑞(𝑥)) =  ∫ 𝑝
1

0
(𝑥)𝑞(𝑥)𝑑𝑥. If p(x) = x2 + 1 then ‖𝑝‖ is …… 

 A) 
7

3
 B) 

3

7
 C) 

√7

√3
 D) 

21

9
 

v) If N is normal and for 𝜆  F, 𝜐(𝑁 –  𝜆)k = 0 then 𝜐N = ……… 

 A) 𝜆𝜐 B) 𝜆𝑘𝜐 C) 𝜆𝜐𝑘 D) 0 

vi) If T  A(V) is hermitian then all its characteristic roots are ……… 

 A) zero B) constant C) real D) complex 

 

       B) State whether true or false (1 marks each) [4] 

i) If V is a vector space and W is subspace of V, then 𝑊̂ is isomorphic 

to 𝑉̂/A (W). 

ii) If V is finite dimensional vector space over F and T  A(V) is 

singular, then there exists 0  S  A(V) such that ST = TS = 0. 

iii) Let N be normal. Then, N is unitary if and only if its characteristics 

are all of absolute value 1. 

iv) Two vectors having distinct characteristic roots of normal 

transformation are orthogonal. 

 

Q. 2. a) Prove that A(A(W)) = W, where A(W) is annihilator of W. [4] 

 b) Prove that if   F is a characteristic root of T  A(V) then  is a root 

of the minimal polynomial of T. 

[4] 

 c) Let T be a nilpotent transformation with index of nilpotence 3. Find 

all possible canonical nilpotent matrices of T of order 6. 

[4] 

 d) For any A  Fn , prove that interchanging of two rows of A changes 

sign of determinant. 

[4] 
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Q. 3. a) If V and W are of dimensions m and n respectively over F, then show 

that Hom(V, W) is of dimension mn over F. 

[8] 

 b) Let V(F) be vector space of polynomials having degree  3 with inner 

product given by (𝑝(𝑥), 𝑞(𝑥)) =  ∫ 𝑝
1

–1
(𝑥)𝑞(𝑥)𝑑𝑥. Then find 

orthonormal basis using Gram-Schmidt orthogonalization process on 

basis {1, x, x2, x3}. 

[8] 

 

Q. 4. a) Define Algebra and prove that Hom(V, V) is an algebra over F. [10] 

 b) Let T  ℝ2(ℝ) defined as T(e1) = e1 – e2, T(e2) = e1 + 2e2, where  

B1 = {e1, e2} be standard basis of ℝ2. Then find matrices of T in basis 

B1 and B2 = {u1 = e1 + e2, u2 = e1 – e2} and show that they are similar. 

[6] 

 

Q. 5. a) If T  A(V) has all its characteristic roots in F, then prove that there 

is a basis of V in which the matrix of T is triangular.  

[8] 

 b) f T  A(V) has all its distinct characteristic roots 1, 2, …, n in F, 

then prove that there is a basis of V for which the matrix of T is of the 

form 

[
 
 
 
 
𝐽1

𝐽2
.

.
𝐽𝑛]

 
 
 
 

 where Ji = 

[
 
 
 
 
𝐵𝑖1

𝐵𝑖2

.
.

𝐵𝑖𝑚]
 
 
 
 

 

and Bi1, Bi2, … Bim are basic Jordan block belonging to i 

[8] 

 

Q. 6. a) Prove that if N is normal linear transformation on V then there exists 

an orthonormal basis consisting of characteristic vectors of N in 

which matrix of N is diagonal. 

[8] 
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 b) Let F be a field of complex numbers and 0  A  Fn. Prove that 

tr(AA*) > 0. Also 𝐴1𝐴1
∗  + 𝐴2𝐴2

∗  + … + 𝐴𝑛𝐴𝑛
∗  = 0 implies that                          

Ai = 0, i = 1, 2, …, n. 

[8] 

 

Q. 7. a) Let f  be a bilinear form on the finite dimensional vector V. Let Lf  and 

Rf be the linear transformations from V to 𝑉̂ defined by (𝐿𝑓𝛼)(𝛽) =

𝑓(𝛼, 𝛽) = (𝑅𝑓𝛽)(𝛼). Then prove that rank (Lf) = rank (Rf). 

[8] 

 b) Let f be a symmetric bilinear form on a finite dimensional vector 

space V over a field of characteristic zero. Then prove that there is an 

ordered basis for V in which f is represented by a diagonal matrix.   

[8] 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 



 
 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

NOTE:- Q 5,6,7 SHOULD BE TREATED AS Q 4,5,6 IN OSM MARKING 
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M.B.A. (Part - II) (Semester -IV) (Executive/Distance)

Examination, May 2024

FINANCIAL MANAGEMENT (Paper-V)

Case Studies in Finance

Sub. Code : 61751/42412

Day and Date : Friday, 03/05/2024      Total Marks : 80

Time : 02.30 p.m. to 5.30 p.m.

Instructions : 1) Q. no.1 and Q.no.5 are compulsory.

2) Solve any Two Questions from Q.2, Q.3 and Q.4.

3) Figures to the right indicate full marks.

P.T.O.

Q1) Statement of Two companies are as below: [20]

                              PLtd                         Q Ltd.

1) Output and Sales 3,00,000 units 1) Output and Sales 4,00,000 units

2) Fixed Cost Rs. 3,50,000 2) Fixed Cost Rs. 4,00,000

3)Variable Cost per unit Rs. 10 3) Variable Cost per unit Rs. 20

4) Interest Expenses Rs. 25,000 4) Interest Expenses Rs. 30,000

5) Selling Price per unit Rs. 30 5) Selling Price per unit Rs. 40

Find out various Leverages.

Q2) The sales and profit of a company during two periods were as follows: [20]

Period Sales (Rs.) Profit (Rs.)

I 2,00,000 -20,000

II 3,00,000 20,000

26
41

75
44

26
41

75
44

26
41

75
44



 2

SR-308

1) Find out Fixed Cost

2) Break-Even-Point

3) What amount of sales will generate a profit of Rs. 50,000?

4) What will be the profit if the sales are Rs. 4,20,000?

Q3) A pro-forma cost sheet of a company provides the following particulars. [20]

Particulars Amount per unit

Elements of cost

Raw materials Rs. 80

Direct Labour 30

Overheads 60

Total cost 170

Profit 30

Selling price 200

The following further particulars are available :

1) Raw materials in stock, on average, one month; Materials in process (completion

stage, 50 per cent), on average, half a month; Finished goods in stock, on average,

one month.

2) Credit allowed by suppliers is one month; Credit allowed to debtors is two

months.

3) Average time-lag in payment of wages is 1.5 weeks and one month in overhead

expenses.

4) One-fourth of the output is sold against cash.

5) Cash in hand and at bank is desired to be maintained at Rs. 4,00,000.

You are required to prepare a statement showing the working capital needed to finance a
level of activity of 1,04,000 units of production. You may assume that production is carried
out evenly throughout the year, and wages and overheads accrue similarly. For calculation
purposes, 4 weeks may be taken as equivalent to a morth.

Q4) Anand Varma is of 50 years, and he works for a leading pharmaceutical company. [20]

He is the sole earning member of his family, which consists of his homemaker wife,

college going son and daughter.

26
41

75
44

26
41

75
44

26
41

75
44
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Prior to 2018, he had been investing heavily into real estate and stock markets with a
view to achieve his financial goals, which include his children’s higher education and marriage,
his retirement and also his aspiration of buying a luxury car. Then, they take annual vacations,
mostly in India but sometime abroad, so that is also something he has trusted funding from his
investments.

Till about 2018, all his investments in real estate and stocks were giving him very good
returns, so he had invested almost all of his savings in these two asset classes. He had heard
about careful asset allocation from his friends. It was then that he considered taking help from
a financial planner, who can guide him in realigning his life’s needs, goals and aspirations and
has shown him a way he can get back to reallocating his existing investments and new savings
in a proper and safer manner.

Describe as a financial planner :

1) Whether the present plan should be continued?

2) What should be Anand’s alternative future Investment planning?

Q5) Write Short Notes on (Any Four) [20]

A) Case study

B) steps in analysing long case

C) Methods of Financial statement analysis.

D) Importance of case interpretation.

E) Types of financial cases.

F) Case analysis and decision making.

26
41

75
44

26
41

75
44

26
41

75
44
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M.B.A. (Part-II) (Sem.-IV) (CBCS) (Distance)
Examination March/April, 2024

INTERNATIONAL HUMAN RESOURCE MANAGEMENT
(Elective Gr., Paper)

Sub. Code: 93035
...........................................................................................................................................................

Day and Date : Thursday,  13-06-2024 Total Marks : 80
Time : 2.30 p.m. to 5.30 p.m.
............................................................................................................................................................
Instrucutions :

1) Que. No. 1 and 5 are compulsory
2) Attempt any two from Que. No. 2 to Que. No. 4.
3) Figures to the right indicate full marks.
............................................................................................................................................................

Seat
No.

Q.1 Read the following case and answer the questions below it. (20)

You have been assigned to Mexico for a two-year international assignment.

Your task is to support the development of a new subsidiary. During the first

weeks of your stay in Mexico you experience again and again that your

Mexican employees as well as your suppliers and customers are never on

time. Now you are sitting in a restaurant and you are waiting for the Sales

Director of one of your Mexican suppliers. Your meeting was at 12.30 but it

is already 13.00 and the person you were waiting for did not show up. As

you have another appointment at 13.30 you ask for the bill, still hungry!

Exactly at this moment the Sales Director shows up - half an hour late.

Questions:

a) What reaction do you expect from your Mexican partner?

b) Which reactions would be interculturally competent and

which would not be?

26
41

79
46

26
41

79
46

26
41

79
46
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Q.2 Discuss the Organizational Structure in MNC. (20)

Q.3 How to develop the staff through international assignments? (20)

Q.4 Discuss the models of IHRM. (20)

Q.5 Write Short Notes (any Four out of Six) (20)

a. Issues in staff selection.

b. Contextual Model.

c. Multi-culturalism.

d. Geert Hofstede.

e. Communication.

f. Motivation.

rrr

26
41

79
46
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26
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